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A S

Units and Conversions

@ Draw lines to join up each pair of equivalent lengths

The first one is done for you.

RSN

oBem 3.5 km
3.5m 35 mm
35 cm 0.35m
3500 m a50.6m
1 mark
@ The measuring jug below contains water.
§_> How much water is in the measuring jug?
— 2000 ml
1000 mi ESN
- ml
: % 1 mark
k“—*_ \
The jug can hold 2500 ml. How many litres is this? Circle the correct value.
25 litres 2:5ilitres 250 litres 250 000 litres
1 mark
Toby has a strawberry lace that is 36 cm long.
He needs pieces 18 mm long to decorate a cake.
How long is the lace in mm?
mm
1 mark
How many 18 mm pieces can he cut from the lace?
1 mark

3 Qection Five — Measure
© COP — Not to be phoﬂil'COP'e‘J






